## Induction

Summation review:

$$\frac{\alpha}{2}$$
  $\alpha_{i} = \alpha_{i} + \alpha_{2} + \dots + \alpha_{n}$   
 $\frac{\alpha}{2}$   $\alpha_{i} = \alpha_{i} + \alpha_{2} + \dots + \alpha_{n}$   
 $\frac{\alpha}{2}$   $\alpha_{i} = \alpha_{i} + \alpha_{2} + \dots + \alpha_{n}$   
 $\frac{\alpha}{2}$   $\alpha_{i} = \alpha_{i} + \alpha_{2} + \dots + \alpha_{n}$   
 $\frac{\alpha}{2}$   $\alpha_{i} = \alpha_{i} + \alpha_{2} + \dots + \alpha_{n}$   
 $\frac{\alpha}{2}$   $\alpha_{i} = \alpha_{i} + \alpha_{2} + \dots + \alpha_{n}$   
 $\frac{\alpha}{2}$   $\alpha_{i} = \alpha_{i} + \alpha_{2} + \dots + \alpha_{n}$   
 $\frac{\alpha}{2}$   $\alpha_{i} = \alpha_{i} + \alpha_{2} + \dots + \alpha_{n}$   
 $\frac{\alpha}{2}$   $\alpha_{i} = \alpha_{i} + \alpha_{2} + \dots + \alpha_{n}$   
 $\frac{\alpha}{2}$   $\alpha_{i} = \alpha_{i} + \alpha_{2} + \dots + \alpha_{n}$   
 $\frac{\alpha}{2}$   $\alpha_{i} = \alpha_{i} + \alpha_{2} + \dots + \alpha_{n}$ 

Certain suns have known closed firms

6 succint formula

& KNOW THESE \$

$$\sum_{k=0}^{n} r^{k} = \frac{r^{n+1}-1}{r-1}$$

$$\sum_{k=0}^{n} \frac{1}{r} = \frac{1+\frac{1}{2}+\dots+\frac{1}{2}}{r}$$

$$\sum_{k=0}^{n} \frac{1}{r} = \frac{1+\frac{1}{2}+\dots+\frac{1}{2}}{r}$$

$$\sum_{k=0}^{n} \frac{1}{r} = \frac{1+\frac{1}{2}+\dots+\frac{1}{2}}{r}$$

$$\sum_{k=0}^{n} \frac{1}{r} = \frac{1+\frac{1}{2}+\dots+\frac{1}{2}}{r}$$

now would me prove this for all values of n > 1?

induction is a proof technique to prove

(laims (P(n)) for some subset of integern

Say we let K=2. let K= 3

P(1) 1 P(2) -> P(3)

induction tells us Pln) is the for all n >/1

example: (laim:, 
$$\frac{z}{i=1}$$
 i =  $\frac{n(n+i)}{2}$  for all  $n \ge 1$ .

Proof by induction on n.

2 14: Suppose 
$$\frac{n}{i-1} = \frac{n(n+1)}{2}$$
 for  $m=1...k-1$ 

(3) Inductive Step:

Goal: Show that 
$$z_i = \frac{n(n+1)}{2}$$
 for  $n = k$ 
 $k = \frac{k(k+1)}{2}$ 

z i = 1+2+ .--(k-1)+k
i:1
z i + (1<)

$$\sum_{i=1}^{k} i = \left(\sum_{i=1}^{k-1} i\right) + k$$

50, 
$$\frac{k}{1-1} = \frac{(k-1)k}{2} + k = \frac{k^2-k}{2} + \frac{2k}{2} = \frac{k^2+k}{2} = \frac{k(k+1)}{2}$$

That is what he wanted to show, so the claim is the for n=k, and therefore all positive integers